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Section A (Question No. 1 to 70) 
1. Which of the following is used to hold large, 

heavy and irregular shaped work pieces which 
cannot be conveniently held between centers: 
A) Three jaw chuck        B) Two jaw chuck 
C)   Face Plate                  D) Driving Plate 

िनɻिलİखत मŐ से िकसका उपयोग बड़े, भारी और अिनयिमत 
आकार के वकŊ पीस को पकड़ने के िलए िकया जाता है, िजसे 
कŐ ūो ंके बीच आसानी से नही ंरखा जा सकता है: 
A) Ūी जा  चक                        B) टू जा चक 
C) फेस ɘेट                          D) डŌ ाइिवंग ɘेट 

2. Lathe beds are usually made of: 
A) Mild steel                 B) Cast iron 
C)  Stainless steel          D) Aluminum alloy 

लेथ बेड  समाɊतः  िकसके बने होते हœ? 
A) नरम इ˙ात                      B) संचिकत लोहा 
C) जंगरोधी इ˙ात                  D) एʞूमीिनयम िमŵ धातु 

3. The lathe accessory used to give extra support 
to long and slender job: 
A) Dead centre            B) Lathe Dog 
C)  Steady rest             D) Lathe Carrier 

लेथ उपसाधन जो लंबे और पतलेकायŊ के िलए अितįरƅ संबल 
देने के िलए इˑेमाल िकया जाता है, Ɛा है? 
A) İ̾थर कŐ ū                          B) खराद अटकनी 
C) İ̾थर टेक                           D) खराद वाहक 

4. To form small length taper for mass 
production, the preferable method is: 
A)Compound rest method       B)Form tool 
C)Taper turning arrangement 
D)Tail stock offset method 

बड़े पैमाने पर उȋादन के िलए ‘छोटी टेपर’ बनाने के िलए, 
बेहतर तरीका िनɻ मŐ से Ɛा है? 
A) कɼाउंड रेː िविध         B) फॉमŊ टूल 
C) टेपर टिनōग ʩव̾था          D) टेल ːॉक ऑफ़सेट िविध 

5. Three main classes of fits used in BIS system 
are: 
A) Clearance, transition, interference 
B) Loose fit, sliding fit, expansion fit 
C) Round fit, flat fit and expansion fit 
D) Tight fit, push fit and medium fit 

बीआईएस Ůणाली मŐ उपयोग िकए जाने वाले िफट के तीन 
मुƥ वगŊ िनɻ हœ: 
A) ƑीयरŐस, टŌ ानिज़शन, इंटरफेरŐस 
B) ʶथ िफट, सपŊण िफट, िवˑार िफट 
C) गोल िफट, सपाट िफट और िवˑार िफट 
D) संकृʼ िफट, वधŊन िफट और मध̾थ िफट 

6. The purpose of tumbler gear in lathe is to : 
A)Cut gears           B)Reduce spindle speed 
C)Give designed direction and movement to 
the carriage 
D)Reverse the spindle direction 

लेथ  मŐ टंबलर िगयर का उȞेʴ िनɻ मŐ से Ɛा है? 
A) िगयर काटना 
B) धुरी की गित कम करना 
C) वाहक को िदशा और गित देना 
D) धुरी की िदशा को उʐा करना 

7. A fastener is designated as M6X0.4. If the 
length of threaded portion is 6 mm, then 
number of threads available are: 
A) 2.4            B) 3          C)  20           D) 15 

एक फाːनर को M6X0.4 के ŝप मŐ नािमत िकया गया है। 
यिद Ūेडेड भाग की लंबाई 6 िममी है, तो उपलɩ Ūेड्स की 
संƥा Ɛा होगी? 
A) 2.4                   B) 3                C)                D) 15 

8. Multi start thread has which of the following 
advantage on single start thread: 
A)Lesser power loss 
B)Lower advancement for a single rotation 
C)Lesser bearing area           D)High friction 

मʐी ːाटŊ Ūेड मŐ िसंगल ːाटŊ Ūेड के सापेƗ िनɻिलİखत लाभ 
होता है: 
A) कम िबजली हािन        B) एक रोटेशन के िलए कम उɄित 
C) कम बेयįरंग Ɨेũ          D) उǄ घषŊण 

9. Select the change gears required to cut a 4 start 
thread having a pitch of 1.5 mm. The lead screw 
has a pitch of 8 mm. 
A) “45/60”                         B) “80/100” 
C)  “60/80”                          D) “80/120” 

1.5 िममी िपच वाले 4 ːाटŊ Ūेड को काटने के िलए आवʴक 
पįरवतŊन िगयर का चयन करŐ । लीड ˌू मŐ 8 िममी की िपच है। 
A) "45/60"                           B) "80/100" 
C) "60/80"                           D) "80/120" 

10. A number consists of two digits. If the digits 
interchanges place and then the new number is 
added to the original number, then the resultant 
number will be divisible by: 
A) 3            B) 5         C)  7                D) 11 

एक संƥा मŐ दो अंक हœ। यिद अंक अपनी जगह आपस मŐ 
बादल लेते हœ और िफर मूल संƥा मŐ नया नंबर जोड़ा जाता है, 
तो पįरणामी संƥा िनɻ मŐ से िकस के Ȫारा िवभाǛ होगी? 
A) 3            B) 5              C) 7                      D) 11 

11. What is the ratio of volume of hemisphere and a 
cylinder circumscribing this hemisphere and 
having a common base: 
A) 1:2                              B) 2:3 
C)  3:4                              D) 5:4 
 

गोलाधŊ और उस पर पįरचािलत िसलŐडर केआयतन का 
अनुपात Ɛा है यिदउनका आधार समान है? 
A) 1: 2                                 B) 2: 3 
C) 3: 4                                 D) 5: 4 
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12. How many cubes of 2 mm can be put in a 
cubical box of 8 cm? 
A) 6400                            B) 400 
C)  64000                          D) 16000 

8 सेमी Ɛूिबकल बॉƛ मŐ 2 िममी के िकतने Ɛूɵ डाले जा 
सकते हœ? 
A) 6400                               B)  400 
C) 64000                             D) 16000 

13. If a:b:c = 3:4:7, then the ratio of (a+b+c):c is :- 
A)2:1           B) 3:1         C)2:3              D) 1:3 

यिद a: b: c = 3:4:7 है, तो(a+b+c):c का अनुपात Ɛा होगा? 
A)2:1           B) 3:1         C)2:3              D) 1:3 

14. A box has 210 coins of denomination of 1 
rupee and fifty paise only. The ratio of their 
respective values is 13:11. Then what is the 
number of one rupee coin?  
A)36              B) 78       C) 65            D) 120 

एक बॉƛ मŐ 1 Ŝपए के और 50 पैसे मूʞ के 210 िसſे हœ। 
उनके संबंिधत मूʞो ंका अनुपात 13:11 है। एक Ŝपये के 
िसſो की संƥा Ɛा है? 
A)36              B) 78       C) 65            D) 120 

15. Locknut in the micrometer is provided for 
which function? 
A) Control the movement of spindle 
B) Lock the reading after setting it over the 

workpiece 
C) Measure the workpiece accurately 
D) Lock the micrometer when it is not in use 

माइŢोमीटर मŐ लॉकनट िकस कायŊ के िलए Ůदान िकया जाता 
है? 
A) धुरी की गितिविध को िनयंिũत करने के िलए 
B) वकŊ पीस पर सेट करने के बाद रीिडंग को लॉक करने के 
िलए 
C) सही ढंग से वकŊ पीस को मापने के िलए 
D) माइŢोमीटर को लॉक करने के िलए जब वह उपयोग मŐ न 
हो  

16. What is the use of dowel in assembly 
technique? 
A) Accurate positioning of two or more parts 
B) Securing components together 
C) Eliminate the need for drilling 
D) Increase the efficiency of fit 

असŐबली तकनीक मŐ डॉवेल का उपयोग Ɛा है? 
A) दो या दो से अिधक भागो ंका सटीक ̾थापन 
B) घटको ंको एक साथ सुरिƗत करना 
C) िडŌ िलंग की आवʴकता को खȏ करना 
D) िफट की दƗता बढ़ाना 

17. If logx(9/16) = -(1/2) then what is the value of x: 
A) -3/4                             B) 4/3 
C)  256/81                        D) -256/81 

यिद logx(9/16)=- (1/2) तो x का मान ǒात कीिजये: 
A) -3/4                                B) 4/3 
C) 256/81                           D) -256 / 81 

18. Which bearing withstand load is parallel to its 
axis? 
A) Needle bearing           B) Thrust bearing 
C)  Plain bearing              D) Split bearing 

कौनसा बेयįरंग अपनी धुरी के समानांतर भार को झेलता है? 
A) सूिचका बेयįरंग                  B) Ůणोद बेयįरंग 
C) सादा बेयįरंग                     D) िवपािटत बेयįरंग 

19. What is the value of log5 (125 * 625/ 25) : 
A) 5        B) 3125      C)  6              D) 25 

Log5(125 * 625/25)का मान ǒात कीिजये: 
A) 5            B) 3125             C) 6                  D) 25 

20. In a 729 litre of milk and water, the ratio of 
milk to water is 7:2. To get a new mixture 
containing milk and water in the ratio of 7:3, 
what amount of water to is be added:  
A) 81 litre                     B) 71 litre 
C)  65 litre                     D) 78 litre 

729 लीटर दूध और पानी मŐ, दूध और पानी का अनुपात 
Ţमश: 7: 2 है। 7: 3 के अनुपात मŐ दूध और पानी का नया 
िमŵण Ůाɑ करने के िलए, िकतनी माũा मŐ पानी जोड़ा जाना 
चािहए? 
A) 81 लीटर                          B) 71 लीटर 
C) 65 लीटर                          D) 78 लीटर 

21. Which of the following instrument is used for 
checking flatness and squareness of a surface 
A) Try square               B) Bevel gauge 
C)  Slip gauge          D) Vernier height gauge 

िनɻ मŐ से िकस उपकरण का उपयोग सतह की समतलता और 
वगाŊकाįरता की जाँच के िलए िकया जाता है? 
A) टŌ ाई ˍायर                       B) बेवेल गेज 
C) İˠप गेज                          D) विनŊयर हाइट गेज 

22. What is the least count of a vernier bevel 
protractor? 
A) 1’            B) 5’         C)  10’          D) 0.5’ 

विनŊयर बेवल ŮोटŌ ैƃर की सबसे कम संƥा Ɛा है? 
A) 1’              B) 5’               C) 10’                 D) 0.5’ 

23. Which of the following instrument is used to 
check concentricity of outside diameter? 
A)Vernier caliper        B)Outside micrometer 
C)Dial test indicator    D)Dial caliper 

िनɻिलİखत मŐ से कौन सा उपकरण बाहरी ʩास की सांūता 
जाँचने के िलए उपयोग िकया जाता है? 
A) विनŊयर कैिलपर               B) बाहरी माइŢोमीटर  
C) डायल परीƗण संकेतक     D) डायल कैिलपर 

24. What is the number of grade of tolerance in BIS 
system? 
A) 16           B) 17        C)  20             D) 18 

बीआईएस Ůणाली मŐ सिहˁुता Ťेड की संƥा Ɛा है? 
A) 16             B) 17              C) 20                  D) 18 
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25. In order to achieve a specific surface finish, 
in single point turning what is the most 
important factor to be controlled : 
A) Cutting speed             B) Depth of cut 
C)  Feed                           D) Tool rake angle 

िविशʼ सतह पįरसǍा Ůाɑ करने के िलए, एकल िबंदु मोड़ 
पर िनयंिũत करने के िलए सबसे महȕपूणŊ कारक Ɛा है? 
A) काटने की गित                   B) कटौती की गहराई 
C) फ़ीड                                D) उपकरण रेक कोण 

26. Micrometer works on the principle of: 
A) Screw                         B) Bolt 
C)  Stud                            D) Nut and Bolt 

माइŢोमीटर िकस िसȠांत पर काम करता है? 
A) पŐच                                  B) बोʐ 
C) ːड                                D) नट और बोʐ 

27. The factor responsible for formation of 
discontinuous chip is : 
A) Low cutting speed and large rake angle 
B) Low cutting speed and small rake angle 
C) High cutting speed and small rake angle 
D) High cutting speed and large rake angle 

िवİǅɄ िचप के गठन के िलए कौनसा कारक िजʃेदार है? 
A) कम काटने की गित और बड़े रैक कोण 
B) कम काटने की गित और छोटे रैक कोण 
C) उǄ काटने की गित और छोटे रैक कोण 
D) उǄ काटने की गित और बड़े रैक कोण 

28. Which of the following operation is done on 
riveted joints to increase leak tightness? 
A) Shot peening              B) Bucking 
C)   Fullering                    D) Spot facing 

įरसाव की जकड़न को बढ़ाने के िलए िनɻ मŐ से कौन-सा 
ऑपरेशन राइवेटेड जोड़ो ंपर िकया जाता है? 
A) गुिलका घनताड़न               B) बिकंग 
C) फुलरन                             D) ˙ॉट फेिसंग 

29. For tapping cast iron using a machine tap, 
the rake angle of the tap is: 
A) 3 degree                    B) 10 degree 
C)  20 degree                  D) 12 degree 

मशीन टैप का उपयोग कर संचिकत लोहा दोहन के िलए, टैप 
का रेक कोण Ɛा है? 
A) 3 िडŤी                             B) 10 िडŤी 
C) 20 िडŤी                           D) 12 िडŤी 

30. An outside micrometer has negative error. The 
correct reading can be taken by which of the 
following method? 
A) Adding the negative error in the actual 

reading 
B) Deducting the negative error from the actual 

reading 
C) Adding the twice negative error in the actual 

reading 
D) Deducting the twice negative error in the 

actual reading 

एक बाहरी माइŢोमीटर मŐ नकाराȏक ũुिट है। िनɻिलİखत मŐ 
से िकस िविध से सही रीिडंग ली जा सकती है? 
A) वाˑिवक रीिडंग मŐ नकाराȏक ũुिट जोड़ना 
B) वाˑिवक रीिडंग से नकाराȏक ũुिट को घटाना 
C) वाˑिवक रीिडंग मŐ दो बार नकाराȏक ũुिट जोड़ना 
D) वाˑिवक रीिडंग मŐ दो बार नकाराȏक ũुिट घटाना 

31. Knurling in a lathe is done at what speed? 
A) Equal to turning speed 
B) Twice of turning speed 
C) One third of turning speed 
D) One fourth of turning speed 

लेथ  मŐ नलŊन िकस गित से की जाती है? 
A) मोड़ गित के बराबर 
B) मोड़ की गित का दोगुना 
C) मोड़ गित की एक ितहाई 
D) मोड़ गित का एक चौथाई 

32. What is the least count of vernier caliper in 
which 19 main scale (19 mm) divisions are 
divided into 20 equal divisions in the vernier 
scale? 
A) 0.01 mm                     B) 0.05 mm 
C)  0.02 mm                     D) 0.19 mm 

विनŊयर कैलीपर की सबसे कम संƥा Ɛा है िजसमŐ 19 मुƥ 
ˋेल (19 िममी) िवभाजन को विनŊयर ˋेल मŐ 20 समान 
िवभाजन मŐ िवभािजत िकया जा सके? 
A) 0.01 िममी                        B) 0.05 िममी 
C) 0.02 िममी                        D) 0.19 िममी 

33. Find out the rpm of the lathe spindle for 200 mm 
bar to cut at 31.4 m/ min: 
A) 200 rpm                     B) 100 rpm 
C)  400 rpm                     D) 50 rpm 

200 िममी बार को 31.4 मीटर / िमनट गित से काटने के िलए 
लेथ  धुरी के आरपीएम ǒात कीिजये: 
A) 200 आरपीएम                   B) 100 आरपीएम 
C) 400 आरपीएम                   D) 50 आरपीएम 

34. What is the function of cross slide? 
A) To supply feed to tool post 
B) To supply feed to chuck 
C) To supply feed to tool 
D) To supply feed to tail stock 

Ţॉस ˠाइड का कायŊ Ɛा है? 
A) उपकरण पोː को फ़ीड की आपूितŊ करना 
B) चक को फ़ीड की आपूितŊ करना 
C) उपकरण को फ़ीड की आपूितŊ करना 
D) टेल ːॉक को फ़ीड की आपूितŊ करना 
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35. What effective change will occur to the tool 
geometry if the cutting tool is set below the 
centre height on lathe? 
A) Front clearance angle increases 
B) Front clearance angle decreases 
C) Front clearance angle remains same 
D) Front clearance angle becomes zero 

यिद किटंग टूल को लेथ  पर कŐ ū की ऊंचाई के नीचे सेट िकया 
गया है, तो टूल Ǜािमित मŐ Ɛा Ůभावी पįरवतŊन होगा? 
A) अŤ ƑीयरŐस कोण बढ़ जाता है 
B) अŤ ƑीयरŐस कोण कम हो जाता है 
C) अŤ ƑीयरŐस कोण समान रहता है 
D) अŤ ƑीयरŐस कोण शूɊ हो जाता है 

36. A CNC lathe is programmed and set to turn a 
diameter of 50 mm, but on the trial run the 
diameter is found to be 50.1 mm. Which of the 
following will ensure correct diameter during 
production? 
A) Increase the tool offset by 0.1 mm 
B) Decrease the tool offset by 0.1 mm 
C) Increase the tool offset by 0.05 mm 
D) Decrease the tool offset by 0.05 mm 

एक सीएनसी खराद को ŮोŤाम की गयी है और 50 िममी के 
ʩास को चालू करने के िलए सेट की गयी है, परंतु परीƗण पर 
ʩास 50.1 िममी पाया गया। िनɻिलİखत मŐ से कौन सा 
उȋादन के दौरान सही ʩास सुिनिʮत करेगा? 
A) टूल ऑफसेट को 0.1 िममी बढ़ाएं 
B) टूल ऑफसेट को 0.1 िममी घटाएं 
C) टूल ऑफसेट को 0.05 िममी बढ़ाएं 
D) टूल ऑफसेट को 0.05 िममी घटाएं 

37. A plug gauge which has its ‘Go’ and ‘No Go’ 
sizes on the same end are known as: 
A) Continuous plug gauge 
B) Progressive plug gauge 
C) Single ended plug gauge 
D) Double ended plug gauge 

एक ɘग गेज िजसका ’गो’ और ‘नो गो’ आकार एक ही छोर 
पर İ̾थत होते हœ, को Ɛा कहा जाता है? 
A) िनरंतर ɘग गेज               B) Ůगितशील ɘग गेज 
C) िसंगल एंड ɘग गेज          D) डबल एंड ɘग गेज 

38. The negative rake angle is generally provided on 
the toll made of which of the following material: 
A)High speed steel        B)High carbon steel 
C)Tool steel                   D)Tungsten carbide 

नकाराȏक रेक कोण समानतः  िनɻिलİखत सामŤी से बने टोल 
पर Ůदान िकया जाता है: 
A) िƗŮ इ˙ात                B) उǄ काबŊन इ˙ात 
C) टूल इ˙ात                 D) टंगːन काबाŊइड 

39. A taper ring gauge is used for checking: 
A) External taper             B) Internal taper 
C)  External thread           D) Internal thread 

एक टेपर įरंग गेज का उपयोग Ɛा जाँचने के िलए िकया जाता है? 
A) बाहरी टेपर                         B) आंतįरक टेपर 
C) बाहरी Ūेड                          D) आंतįरक Ūेड 

40. The angular contact bearing are designed to take 
which of the following type of load? 
A) Axial and vertical thrust 
B) Axial thrust 
C) Radial load 
D) Axial thrust and radial load 

कोणीय संपकŊ  बेयįरंग को िनɻ Ůकार के भारो ंको लेने के िलए 
िडज़ाइन िकया जाता है? 
A) अƗीय और ऊȰाŊधर Ūː 
B) अƗीय Ūː 
C) रेिडयल भार 
D) अƗीय Ūː और रेिडयल भार 

41. ‘Go’ side of the plug gauge will have the 
diameter equal to which of the following 
dimension of job? 
A) Actual size of the job 
B) Maximum size of the job 
C) Minimum size of the job 
D) All of the above 

ɘग गेज के ‘गो’ िहˣे का ʩास जॉब के िनɻिलİखत आयामो ं
के बराबर होगा: 
A) जॉब का वाˑिवक आकार    
B) जॉब का अिधकतम आकार 
C) जॉब का Ɋूनतम आकार 
D) उपरोƅ सभी 

42. What is the offset to be given to produce taper in 
a tailstock offset method, if the bigger diameter 
is 60 mm and the small diameter is 40 mm, 
length of taper is 100 mm and total length of job 
is 200 mm? 
A) 10 mm                        B) 5 mm 
C)  2.5 mm                       D) 20 mm 

टेलːॉक ऑफ़सेट िविध मŐ टेपर उȋɄ करने के िलए दी जाने 
वाली ऑफसेट Ɛा है, यिद बड़ा ʩास 60 िममी है और छोटा 
ʩास 40 िममी है, टेपर की लंबाई 100 िममी है और जॉब की 
कुल लंबाई 200 िममी है: 
A) 10 िममी                           B) 5 िममी 
C) 2.5 िममी                          D) 20 िममी 

43. In a turning operation, two tools X and Y are 
used. For tool X, n = 0.3 and C = 60 and for tool 
Y, n = 0.6 and C = 90. Both the tools will have 
the same tool life for which cutting speed? 
A) 50 m/ min                   B) 40 m/ min 
C)  45 m/ min                   D) 55 m/min 

एक टिनōग कायŊ मŐ, दो उपकरण X और Y का उपयोग िकया 
गया है। उपकरण X के िलए, n=0.3 और C=60 और 
उपकरण Y के िलए, n=0.6 और C=90 । दोनो ंउपकरणो ंके  
समान उपकरण जीवन के िलए काटने की गित Ɛा होगी? 
A) 50 मीटर / िमनट               B) 40 मीटर / िमनट 
C) 45 मीटर / िमनट               D ) 55 मीटर / िमनट 
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44. Match the following:  
Machine Components             Material used 
A. Machine tool bed               1. Forged used                                     
B. Machine tool spindle          2. HSS 
C. Cutting tool                        3. Bronze 
D. Worm wheel                      4. Cast iron 
A) A–3, B–4, C–2, D–3 
B) A–4, B–3, C–2, D–1 
C) A–1, B–2, C–3, D–4 
D) A–4, B–1, C–2, D–3 

िनɻिलİखत को िमलाएं: 
    मशीन अवयव                       इˑेमाल की गयी सामŤी  
A. मशीन उपकरण बेड              1. जाली इˑेमाल िकया 
B. मशीन उपकरण धुरी               2. एचएसएस 
C. काटना वाला उपकरण            3. कां˟ 
D. वमŊ चŢ                               4. संचिकत लोहा 
A) A-3, B-4, C-2, D-3 
B) A-4, B-3, C-2, D-1 
C) A-1, B-2, C-3, D-4 
D) A-4, B-1, C-2, D-3 

45. Match the following: 
Requirement in the design of jigs and fixtures 
P. Heavy clamping force on the work piece 
Q. Clamping on rough surfaces of work piece 
R. Four work pieces in a line to be machined  
in one loading 
S. Drilling and reaming of work piece in one  
loading 
 
Recommended device 
1. Clamp with a floating pad 
2. Slip renewable bush 
3. Indexing bush 
4. Equalizing clamp 
5. Strap clamp 
 Choose the correct match option 
A) P-5, Q-1, R-4, S-2 
B) P-1, Q-4, R-5, S-3 
C) P-5, Q-1, R-2, S-3 
D) P-4, Q-5, R-3, S-2 

िनɻिलİखत को िमलाएं: 
िजƺ और जुड़नार के िडजाइन मŐ आवʴकतायŐ 
P. वकŊ पीस पर भारी Ƒœिपंग फोसŊ 
Q. वकŊ पीस की खुरदुरी सतहो ंपर Ƒœिपंग 
R. एक पंİƅ मŐ चार वकŊ पीस को एक लोिडंग मŐ मशीनीकृत 
करने के िलए       
S. वकŊ पीस की िडŌ िलंग और रीिमंग एक लोिडंग मŐ 
 
अनुशंिसत उपकरण 
1. ɢोिटंग पैड के साथ Ƒœप 
2. İˠप अƗय बुश 
3. इंडेİƛंग बुश 
4. समकारी Ƒœप 
5. पǥा Ƒœप 
सही िमलान िवकʙ चुनŐ 
A) P-5, Q-1, R-4, S-2 
B) P-1, Q-4, R-5, S-3 
C) P-5, Q-1, R-2, S-3 
D) P-4, Q-5, R-3,S-2 

46. In a CNC feed drive, a stepper motor with step 
angle of 1.8 degree drives a lead screw with pitch 
of 2 mm. The basic length unit (BLU) for this 
drive is: 
A) 10 microns                 B) 20 microns 
C)  40 microns                 D) 100 microns 

एक सीएनसी फीड डŌ ाइव मŐ, 1.8 िडŤी के कोण वाला ːेपर 
मोटर 2 िममी िपच वाले लीड ˌू को डŌ ाइव करता है। इस 
डŌ ाइव के िलए बुिनयादी लंबाई इकाई (BLU) Ɛा है? 
A) 10 माइŢोन                      B) 20 माइŢोन 
C) 40 माइŢोन                      D) 100 माइŢोन 

47. A sells an item to B at a profit of 10%. B sells 
the item back to A at a loss of 10 %. What is 
correct statement about this transaction? 
A) A neither loses nor gain 
B) B loses 20% 
C) A makes a profit of 20 % 
D) A makes profit of 11% 

A, B को 10% लाभ पर एक वˑु बेचता है। B, A को वापस 
10% हािन पर वˑु बेचता है। इस लेन-देन के बारे मŐ सही 
कथन Ɛा है? 
A) A को न तो हािन Šई न िह लाभ 
B) B को 20% हािन Šई 
C) A को 20% लाभ Šआ 
D) A को 11% लाभ Šआ 

48. The least count of a 200 mm long spirit level is 
given as 10 sec per division. The gradient of the 
spirit level expressed as mm over one meter is: 
A) 0.048mm                    B) 1.048mm 
C)  -1.048mm                   D) 0.48mm 

200 िममी लंबे İ˙įरट लेवेल की सबसे कम िगनती 10 सेकंड 
Ůित िडवीजन है। एक मीटर पर ʩƅ की जाने वाले İ˙įरट 
लेवेल की ढाल Ɛा होगी? 
A) 0.048 िममी                      B) 1.048 िममी 
C) -1.048 िममी                    D) 0.48 िममी 

49. The interpolator in a CNC machine controls: 
A) Spindle speed            B) Coolant flow 
C)  Feed rate                   D) Tool change 

एक सीएनसी मशीन मŐ ŮƗेपक Ɛा िनयंũण करता है?  
A) धुरी की गित                      B) शीतलक Ůवाह 
C) फ़ीड दर                           D) उपकरण पįरवतŊन 

50. Fixed type snap gauges have ‘Go’ and ‘No Go’ 
gauges ends on which of the following side? 
A) On opposite side        B) On same side 
C)  On both sides             D) On either side 

िनिʮत Ůकार के ˘ैप गेज मŐ ’गो’ और ’नो गो’ गेज िसरे िकस 
ओर होते हœ? 
A) िवपरीत िदशा                    B) समान िदशा 
C) दोनो ंओर                         D) िकसी भी ओर 
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51. Match the following:-  
    List-I                      List-ll 
A. Chatter                 1. Too high feed 
B. Poor surface         2. Lack of rigidity in  
     finish                   fixtures,bar or workpiece 
C. Cutter burrs          3.  High cutting load 
D. Built-up edge       4. Radial relief too  
formation                 great 
                                  5. Not enough lubricant 
A) A-2, B-1, C-5, D-3                
B) A-2, B-1, C-3, D-5 
C) A-4, B-5, C-2, D-3                 
D) A-4, B-2, C-3, D-5 

िनɻिलİखत को िमलाएं:- 
सूची- I                                       सूची-ll 
A. कटकटाना                       1. बŠत अिधक फ़ीड 
B. मिलन सतही                     2. जुड़नार, बार या वकŊ पीस 
      पįरसǍा                          मŐ कठोरता की कमी 
C. कटर बसŊ                         3. हाई किटंग लोड 
D. िकनारा िनिमŊत होना           4. अितउǄ रेिडयल įरलीफ  
                                           5. अपयाŊɑ लुŰीकेȴ  
A) A-2, B-1, C-5, D-3 
B) A-2, B-1, C-3, D-5 
C) A-4, B-5, C-2, D-3 
D) A-4, B-2, C-3, D-5 

52. The angle of elevation of the top of a tower from 
a certain point is 300. If the observer moves 20 m 
towards the tower, the angle of elevation of the 
top of tower increases by 150. What is the height 
of tower? 
A) 17.3 m                        B) 23.3 m 
C)  27.3 m                        D) 30.3 m 

एक िनिʮत िबंदु से एक टॉवर के शीषŊ पर उȖेध कोण 300 है। 
यिद पयŊवेƗक टॉवर की ओर 20 मीटर चलता है, तो टॉवर पर 
उȖेध कोण 150 बढ़ जाता है। टॉवर की ऊंचाई Ɛा है? 
A) 17.3 मी                           B) 23.3 मी 
C) 27.3 मी                           D) 30.3 मी 

53. A shopkeeper wants to make some profit by 
selling sugar. Which of the following would 
maximize his profit? 
A.Sell sugar at 10% profit 
B.Use 900 g of weight instead of 1 kg 
C.Mix 10% impurities in sugar and selling sugar 
at cost price 
D.Increase the price by 5% and reduced weight 
by 5% 
A)ii                                B) i and ii 
C) i, ii and iii                 D) All are same  

एक दुकानदार चीनी बेचकर कुछ लाभ कमाना चाहता है। 
िनɻिलİखत मŐ से कौन सा उसका लाभ को अिधकतम करेगा 
A. 10% लाभ पर चीनी बेचे? 
B. 1 िकलो के बजाय 900 Ťाम वजन का उपयोग करे 
C. चीनी मŐ 10% अशुİȠयाँ िमलाये और लागत मूʞ पर चीनी 
बेचे 
D. मूʞ मŐ 5% की वृİȠ और वजन मŐ 5% की कमी कर 
 
A) ii                                      B) i और ii 
C) i, ii और iii                         D) सभी समान हœ 

54. A man takes 6 hours and 15 minutes in walking a 
distance and riding back to starting place. He 
could walk both ways in 7 hours and 45 minutes. 
The time taken by him to ride back both ways is:  
A)3hours  45 minutes         B)4 hours 15 minutes 
C)3 hours 30 minutes         D)4 hours 45 minutes 

एक आदमी को पैदल चलने और वापस सवारी से जाने मŐ 6 घंटे 
और 15 िमनट लगते हœ। वह दोनो ंतरफ पैदल 7 घंटे 45 िमनट मŐ 
तय कर सकता है। दोनो ं तरफ सवारी से जाने मŐ उसे िकतना 
समय लगेगा? 
A) 3 घंटे 45 िमनट               B) 4 घंटे 15 िमनट 
C) 3 घंटे 30 िमनट               D) 4 घंटे 45 िमनट 

55. If ‘D’ is the bigger diameter, ‘d’ is the small 
diameter and ‘l’ is the length of the tapered 
workpiece, the half included angle of taper is 
given by which of following: 
A)tan-1 {(D-d)/l}           B)tan-1 {(D-d)/2l} 
C)tan-1 {2(D-d)/l}         D)tan-1 {(2D-d)/l}       

यिद ‘D’ बड़ा ʩास है, ‘d ’छोटा ʩास है और ‘l’ टेपर वकŊ पीस 
की लंबाई है, अधŊ सİʃिलत कोण िनɻिलİखत मŐ से िकसके 
Ȫारा दशाŊया जाएगा: 
A) tan-1 {(D-d)/l}             B) tan-1 {(D-d)/2l} 
C) tan-1 {2(D-d)/l}           D) tan-1 {(2D-d)/l}       

56. A mild steel rod of dia 50 mm and length 200 
mm has to be turned to a dia 40 mm in one cut 
for full length using HSS tool with a feed rate of 
0.1 mm/ rev. What is the turning time with speed 
of 200 rpm? 
A)4 min        B)5 min    C) 10 min       D) 20 min 

एक 50 िममी ʩास की और 200 िममी लंबाई की एक हʋी 
इ˙ात छड़ को 0.1 िममी/रेव की फीड दर के साथ एचएसएस 
उपकरण का उपयोग करके पूणŊ लंबाई के िलए एक कट मŐ 40 
िममी ʩास तक मोड़ना है। 200 आरपीएम गित के साथ मोड़ने 
का समय Ɛा होगा? 
A) 4 िमनट       B) 5 िमनट     C) 10 िमनट     D) 20 िमनट  

57. A mild steel rod having 50 mm dia and 500 mm 
length is to be turned on a lathe. What is the 
machining time to reduce the rod to 45 mm in 
one pass when cutting speed is 30 m/ min and 
feed is 0.7 rev/ min? 
A) 2 minutes                    B) 3.74 minutes 
C)  4.56 minutes               D) 6.67 minutes 

50 िममी ʩास और 500 िममी लंबी हʋी इ˙ात छड़ को 
एक खराद पर टनŊ िकया जाना है। छड़ की लंबाई 45 िममी 
करने के िलए मशीिनंग समय Ɛा होगा यिद एक पास मŐ 
काटने की गित 30 मीटर/िमनट है और फ़ीड 0.7 रेव/िमनट 
है? 
A) 2 िमनट                            B) 3.74 िमनट 
C) 4.56 िमनट                       D) 6.67 िमनट 
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58. A 150 mm long 12 mm diameter stainless steel 
rod is to be reduced in a diameter to 10 mm by 
turning on a lathe one pass. The spindle rotates 
at 500 rpm and tool is travelling at an axial 
speed of 200 mm/ min. What is the material 
removal rate in mm3/ min? 
A) 7538.4                        B) 5674.6 
C)  3476.5                        D) 8435.2 

एक 150 िममी लंबे 12 िममी ʩास वाले जंगरोधी इ˙ात रॉड 
को खराद पर टिनōग कर 10 िममी ʩास तक कम िकया जाना 
है। धुरी 500 आरपीएम पर घूमती है और उपकरण 200 
िममी/िमनट की अƗीय गित से गितमान है। िममी 3/िमनट मŐ 
पदाथŊ हटाने की दर Ɛा होगी? 
A) 7538.4                            B) 5674.6 
C) 3476.5                            D) 8435.2 

59. What is the angle at which the compound rest 
would be swivelled for cutting a taper on a 
work piece having a length of 150 mm and 
outside diameter of 80 mm. The smallest 
diameter on the tapered end of rod should be 
50 mm and required length of tapered portion 
is 80mm? 
A) 80.28 degree              B) 15 degree 
C)  45.6 degree                D) 10.62 degree 

वह कोण Ɛा है िजस पर 150 िममी लंबे और 80 िममी बाहरी 
ʩास वाले कायŊ के टुकड़े पर कंपाउंड रेː Ȫारा एक टेपर 
काटने के िलए िकया जाता है। छड़ के टेपर छोर पर सबसे 
छोटा ʩास 50 िममी और आवʴक लंबाई 80 िममी होनी 
चािहए? 
A) 80.28 िडŤी                      B) 15 िडŤी 
C) 45.6 िडŤी                        D) 10.62 िडŤी 

60. A 150 mm long 15 mm diameter stainless steel 
rod is to be reduced in a diameter to 12 mm by 
turning on a lathe one pass. The spindle rotates 
at 500 rpm and tool is travelling at an axial 
speed of 200 mm/ min. What is the time 
required for machining the steel rod: 
A) 2 min                          B) 2.75 min 
C)  0.75 min                     D) 3.75 min 

लेथ  वन पास Ȫारा एक 150 िममी लंबे 15 िममी ʩास वाले 
जंगरोधी इ˙ात रॉड को ʩास मŐ 12 िममी तक कम िकया 
जाना है। धुरी 500 आरपीएम पर घूमती है और उपकरण 200 
िममी/िमनट की अƗीय गित पर गितमान है। इ˙ात रॉड को 
मशीिनंग के िलए आवʴक समय Ɛा होगा? 
A) 2 िमनट                            B) 2.75 िमनट 
C) 0.75 िमनट                       D) 3.75 िमनट 

61. Which one of the following is correct Taylor’s 
tool life expression? 
A) Tvn= C                        B) vTn= C 
C)  Cvn= T                        D) None of these 

िनɻिलİखत मŐ से कौन सी  टेलर की उपकरण जीवन की 
समीकरण है? 
A) Tvn=C                             B) vTn=C 
C) Cvn=T                             D) इनमŐ से कोई नही ं

62. If a job is to be tuned from 60 mm dia to 50 
mm dia. If the maximum depth of cut is 2 mm. 
Then how many passes are required for 
machining? 
A) 3         B) 2         C)  4          D) None of 

these 

यिद िकसी जॉब को 60 िममी ʩास से 50 िममी ʩास तक 
Ǩून िकया जाना है। यिद कट की अिधकतम गहराई 2 िममी 
है। तो मशीिनंग के िलए िकतने पास आवʴक हœ? 
A) 3          B) 2          C) 4               D) इनमŐ से कोई नही ं

63. If the cutting speed is 100 m/min and dia of the 
job is 200 mm. What is the rpm? 
A)159.2 rpm               B)15.9 rpm 
C)  1592 rpm              D)  None of these 

यिद काटने की गित 100 मीटर/िमनट है और जॉब ʩास 200 
िममी है, तो आरपीएम Ɛा होगा? 
A) 159.2 आरपीएम              B) 15.9 आरपीएम 
C) 1592 आरपीएम               D) इनमŐ से कोई नही ं

64. Which of the following is not used for taper 
turning on lathe? 
A) Form tool 
B) Swivel compound rest 
C) Simultaneous longitudinal and cross feed 
D) None of these 

िनɻिलİखत मŐ से कौन सा लेथ  पर टेपर टिनōग के िलए उपयोग 
नही ंिकया जाता? 
A) फॉमŊ टूल 
B) İˢवेल कंपाउंड रेː 
C) समकािलक अनुदैȯŊ और Ţॉस फ़ीड 
D) इनमŐ से कोई नही ं

65. In facing process, length of tool travel is which 
of the following? 
A) Length of workpiece 
B) Radius of workpiece 
C) Diameter of workpiece 
D) All of these 

फेिसंग ŮिŢया मŐ, उपकरण याũा की लंबाई िनɻिलİखत मŐ से 
कौन सी है? 
A) वकŊ पीस की लंबाई           B) वकŊ पीस की िũǛा 
C) वकŊ पीस का ʩास            D) ये सभी 

66. What is the remainder when 2256 is divided by 
17? 
A) 1           B) 3          C)  14             D) 16 

2256 को 17 से िवभािजत करने पर Ɛा शेष होगा? 
A) 1               B) 3          C) 14                       D) 16 
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67. When digits of the number 13 are reversed, the 
number increases by 18. How many other two 
digit numbers increases by 18 when their digits 
are reversed? 
A) 5             B) 6      C)  7                    D) 9 

जब संƥा 13 के अंक उलट जाते हœ, तो संƥा 18 से बढ़ 
जाती है। िकतने दो अंको ंवाली संƥा के अंक उलट जाने पर 
संƥा 18 से बढ़ जाती है? 
A) 5                  B) 6              C) 7                        D) 9 

68. A hollow iron pipe is 21 cm long and its external 
diameter is 8 cm. if the thickness of the pipe is 1 
cm and iron weight 8 g/cm3, then the weight of 
pipe is? 
A) 13.6 kg                       B) 36.96 kg 
C)  3.696 kg                     D) 23.98 kg 

एक खोखले लोहे का पाइप 21 सेमी लंबा है और इसका बाहरी 
ʩास 8 सेमी है। यिद पाइप की मोटाई 1 सेमी है और लोहे का 
वजन 8 Ťाम/सेमी3 है, तो पाइप का वजन Ɛा है? 
A) 13.6 िकŤा                       B) 36.96 िकŤा 
C) 3.696 िकŤा                     D) 23.98 िक.Ťा 

69. If the surface area of cube is 150 cm2. What is 
the volume of cube in cm3? 

A)125             B) 216    C) 343        D) 164 

यिद Ɛूब का सतही Ɨेũफल 150 सेमी2 है। Ɛूब का सेमी3 मŐ 
आयतन Ɛा होगा? 
A) 125       B) 216           C) 343                D) 164 

70. 39 persons can repair a road in 12 days, working 
5 hours a day. In how many days will 30 persons, 
working 6 hours a day, complete the work: 
A) 10         B) 13       C)  15                D) 17 

39 ʩİƅ 12 िदनो ंमŐ Ůितिदन 5 घंटे काम कर एक सड़क की 
मरʃत कर सकते हœ। 30 ʩİƅ Ůितिदन 6 घंटे काम कर 
िकतने िदनो ंमŐ कायŊ पूरा करŐ गे? 
A) 10          B) 13            C) 15                   D) 17 

Section B (Question No. 1 to 30) 
1. First country to appoint Lokpal or equivalent to a 

Lokpal is: 
A) Brazil                        B) Burma 
C)   Sweden                     D) India 

लोकपाल या लोकपाल के समकƗ िनयुƅ करने वाला पहला 
देश िनɻिलİखत मŐ कौन सा है? 
A) Űाजील                         B) बमाŊ 
C) ˢीडन                         D) भारत 

2. Which country is the largest producer of Rice? 
A) Brazil                        B) China 
C)  United States            D) India 

चावल का सबसे अिधक उȋादक देश िनɻिलİखत मŐ कौन सा 
है? 
A) Űाजील                          B) चीन 
C) संयुƅ राǛ                  D) भारत 

3. The leaning temple of Huma is dedicated to 
which Hindu God? 
A) Shiva                        B) Rama 
C)   Krishna                    D) Hanuman 

Šमा का झुका Šआ मंिदर िकस िहंदू भगवान को समिपŊत है? 
A) िशव                             B) राम 
C) कृˁा                           D) हनुमान 

4. The journalist who refused to accept ‘Padma 
Bhushan’ was? 
A) Shekaran Nair        B) Khushwant Singh 
C)   Ratan Thiyam        D) Arun Shourie 
 

िजस पũकार ने 'पȧ भूषण' को ˢीकार करने से इनकार कर 
िदया था, िनɻिलİखत मŐ कौन है? 
A) शकरन नायर                B) खुशवंत िसंह 
C) रतन िथयम                   D) अŜण शौरी 

5. Rajya Sabha member has a tenure of? 
A) 8 years                     B) 6 years 
C)   4 years                     D) 2 years 

राǛसभा सद˟ का कायŊकाल िकतना होता है? 
A) 8 साल                         B) 6 साल 
C) 4 साल                         D) 2 साल 

6. During an emergency all of the following 
fundamental rights are suspended, except: 
A) Freedom of Association 
B) Freedom of Speech and Expression 
C) Right to Life and Personal Liberty 
D) Freedom of Assembly without Arms 

आपातकालीन İ̾थित मŐ िनɻिलİखत मŐ िकन मूलभूत अिधकारो ं
को छोड़कर सभी िनलंिबत कर िदये जाते है: 
A) संघ की ˢतंũता 
B) भाषण और अिभʩİƅ की ˢतंũता 
C) जीवन और ʩİƅगत ˢतंũता का अिधकार 
D) हिथयार के िबना सभा की ˢतंũता 

7. The National Anthem was adopted by the 
Constituent Assembly in:  
A) 24th May 1949 
B) 24th November 1949 
C) 24th January 1950 
D) 24th June 1950 

संिवधान सभा Ȫारा रा Ō̓ गान को कब अपनाया गया? 
A) 24 मई 1949 
B) 24 नवंबर 1949 
C) 24 जनवरी 1950 
D) 24 जून 1950 

8. Who holds the power to increase the number of 
Judges in the Supreme Court? 
A) Prime Minister          B) President 
C)  Parliament                 D) Ministry of Law 

िनɻिलİखत मŐ से कौन सवŖǄ Ɋायालय मŐ Ɋायाधीशो ंकी 
संƥा बढ़ाने की शİƅ रखता है? 
A) Ůधान मंũी                     B) रा Ō̓ पित 
C) संसद                           D) िविध मंũालय 
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9. What is the International Date Line? 
A) It is the Equator 
B) It is the 00 Longitude 
C) It is the 900 Longitude 
D) It is the 1800 Longitude 

अंतराŊ Ō̓ ीय ितिथ रेखा Ɛा है? 
A) यह भूमȯ रेखा है 
B) यह 00 देशांतर है 
C) यह 900 देशांतर है 
D) यह 1800 देशांतर है 

10. What is the chemical name of common salt that 
we eat? 
A) Sodium bicarbonate 
B) Sodium chloride 
C) Sodium salicylate 
D) Sodium hydroxide 

साधारण नमक का रासायिनक नाम Ɛा है, िजसे हम खाते हœ? 
A) सोिडयम बाइकाबŖनेट 
B) सोिडयम Ƒोराइड 
C) सोिडयम सैिलिसलेट 
D) सोिडयम हाइडŌ ॉƛाइड 

11. The gland in the human body which secretes 
both enzymes and hormones is: 
A) Liver                          
B) Pancreas 
C)   Salivary gland           
D) Pituitary gland 

मानव शरीर मŐ Ťंिथ जो ए̢ज़ाइम और हामŖन दोनो ंका ˓ाव 
करती है: 
A) यकृत                             
B) अƱाशय 
C) लार Ťंिथ                         
D) िपǨूटरी Ťंिथ 

12. Minorities Rights Day is observed in India on: 
A) 23rd December          B) 5th September 
C)   1st December            D) 18th December 

भारत मŐ अʙसंƥक अिधकार िदवस कब मनाया जाता है? 
A) 23 िदसंबर                    B) 5 िसतंबर 
C) 1 िदसंबर                      D) 18 िदसंबर 

13. Which Indian city has been chosen by the World 
bank for setting up its back-office operations? 
A) New Delhi                B) Kolkata 
C)  Chennai                    D) Bangalore 

िकस भारतीय शहर को िवʷ बœक ने अपने बैक ऑिफस कायŊ 
के िलए चुना है? 
A) नई िदʟी                      B) कोलकाता 
C) चेɄई                             D) बœगलोर 

14. The largest herbarium of India is located at: 
A) Kolkata                    B) Lucknow 
C)   Mumbai                   D) Coimbatore 

भारत का सबसे बड़ा वन˙ित संŤहालय कहाँ İ̾थत है? 
A) कोलकाता                      B) लखनऊ 
C) मंुबई                             D) कोयɾटूर 

15. Molten rock below the surface of the earth is 
called? 
A) Basalt                       B) Laccolith 
C)   Lava                         D) Magma 

पृțी की सतह के नीचे िपघली Šई चǥान को िनɻ मŐ से Ɛा कहा 
जाता है? 
A) बेसाʐ                            B) लैकोिलथ 
C) लावा                               D) मैƵा 

16. The Andaman is separated from Nicobar by 
which water body? 
A) 110 channel               B) 100 channel 
C)   Palk Strait                D) Gulf of Mannar 

अंडमान को िनकोबार से अलग करने वाला जल िनकाय 
िनɻिलİखत मŐ से कौन सा है? 
A) 110 चैनल                       B) 100 चैनल 
C) पाक Ōː ेट                       D) मɄार की खाड़ी 

17. The Ghatampur Thermal Power Plant recently 
approved by Cabinet is to be setup in: 
A) Rajasthan                  
B) Uttar Pradesh 
C)   Karnataka                 
D) Madhya Pradesh 

हाल ही मŐ कैिबनेट Ȫारा ˢीकृत घाटमपुर थमŊल पावर ɘांट 
को कहाँ ̾थािपत िकया जाना है? 
A) राज̾थान                        
B) उȅर Ůदेश 
C) कनाŊटक                         
D) मȯ Ůदेश 

18. What is Dakshin Gangotri? 
A) River Valley in Andhra Pradesh 
B) Unmanned Station in Antarctica 
C) Second Source of River Ganga 
D) Island in the Indian Ocean 

दिƗणा गंगोũी िनɻिलİखत मŐ से Ɛा है? 
A) आंŬ Ůदेश मŐ नदी घाटी 
B) अंटाकŊ िटका मŐ मानव रिहत ːेशन 
C) गंगा नदी का दूसरा ŷोत 
D) िहंद महासागर मŐ Ȫीप 

19. The International Judicial Conference 2020 was 
held from 21st – 23rd February, 2020 in: 
A) Tokyo                       B) New Delhi 
C)   Paris                         D) Bangalore 

अंतराŊ Ō̓ ीय Ɋाियक सʃेलन 2020 का आयोजन 21 से - 23 
फरवरी, 2020 तक िनɻिलİखत मŐ से कहाँ िकया गया? 
A) टोƐो                           B) नई िदʟी 
C) पेįरस                            D) बœगलोर 

20. Which city is called the Silver City of India? 
A) Jaipur                       B) Cuttack 
C)   Kolkata                    D) Madurai 

िकस शहर को भारत का िसʢर िसटी कहा जाता है? 
A) जयपुर                          B) कटक 
C) कोलकाता                     D) मदुरई 
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21. Lord Buddha breathe his last at: 
A) Rajgir                       B) Bodh Gaya 
C)  Sarnath                     D) Kushinagar 

भगवान बुȠ ने अंितम सांस िनɻिलİखत मे से िकस ̾थान पर  
ली? 
A) राजगीर                        B) बोध गया 
C) सारनाथ                        D) कुशीनगर 

22. Mahabalipuram was established by which 
dynasty? 
A) Pallava                     B) Pandya 
C)   Chola                       D) Chalukya 

महाबिलपुरम िकस राजवंश Ȫारा ̾थािपत िकया गया था? 
A) पʟव                          B) पंǰा 
C) चोल                             D) चालुƐ 

23. The Krishna Raja Sagara Dam (KRS Dam) is 
built across which river? 
A) Krishna                    B) Godavari 
C)  Mahanadi                 D) Kaveri 

कृˁा राजा सागर बांध (KRS बांध) िकस नदी पर İ̾थत है? 
A) कृˁा                           B) गोदावरी 
C) महानदी                        D) कावेरी 

24. Where is the Bandipur National Park? 
A) Rajasthan                  B) Andhra Pradesh 
C)   Karnataka                 D) Assam 

बांदीपुर रा Ō̓ ीय उȨान कहाँ İ̾थत है? 
A) राज̾थान                       B) आंŬ Ůदेश 
C) कनाŊटक                        D) असम 

25. National Environmental Engineering Research 
Institute is located at: 
A) Pune                         B) Delhi 
C)   Mumbai                   D) Nagpur 

रा Ō̓ ीय पयाŊवरण इंजीिनयįरंग अनुसंधान सं̾थान कहाँ İ̾थत है? 
A) पुणे                               B) िदʟी 
C) मंुबई                             D) नागपुर 

26. Araku Valley is a hill station and valley region 
situated in which state? 
A) Kerala                       B) Andhra Pradesh 
C)   Karnataka                 D) Tamil Nadu 

अरकु घाटी िकस राǛ मŐ İ̾थत एक िहल ːेशन और घाटी 
Ɨेũ है? 
A) केरल                            B) आंŬ Ůदेश 
C) कनाŊटक                        D) तिमलनाडु 

27. Hampi is a UNESCO World Heritage Site 
located in which state? 
A) Kerala                        
B) Andhra Pradesh 
C)  Tamil Nadu                
D) Karnataka 

हɼी एक यूनेˋो िवʷ धरोहर ̾थल है जो िनɻिलİखत िकस 
राǛ मŐ İ̾थत है? 
A) केरल                              
B) आंŬ Ůदेश 
C) तिमलनाडु                       
D) कनाŊटक 

28. Rajiv is the brother of Atul; Sonia is the sister of 
Sunil; Atul is the son of Sonia. How is Rajiv 
related to Sonia? 
A) Nephew                B) Son 
C)  Brother                   D) Father 

राजीव अतुल का भाई है; सोिनया सुनील की बहन है; अतुल 
सोिनया का बेटा है। राजीव सोिनया से िकस Ůकार संबंिधत है? 
A) भतीजा/भांजा                  B) पुũ 
C) भाई                              D) िपता 

29. A pole is 90 m long. It is colored in white, black 
and blue in the ratio of 5: 6: 7. What is the length 
of the white part of the pole? 
A) 30 m                      B) 15 m 
C)  20 m                      D) 25 m 

एक ˑʁ 90 मीटर लंबा है। यह 5: 6: 7. के अनुपात मŐ सफेद, 
काले और नीले रंग मŐ रंगा है। ˑʁ के सफेद भाग की लंबाई 
िकतनी है? 
A) 30 मी                           B) 15 मी 
C) 20 मी                           D) 25 मी 

30. The simple interest accrued on an amount of Rs 
9530 at the end of 6 years is Rs 2850. What is the 
rate of interest p.c.p.a? 
A) 5                             B) 7 
C)  9                             D) 11 

6 साल के अंत मŐ 9530 Ŝपये की रािश पर अिजŊत साधारण 
ɯाज 2850 Ŝपये है। ɯाज दर Ůितशत ŮितवषŊ Ɛा है? 
A) 5                                  B) 7 
C) 9                                  D) 11 
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1 C 36 C 1 C
2 B 37 B 2 B
3 C 38 D 3 A
4 B 39 A 4 B
5 A 40 D 5 B
6 D 41 C 6 C
7 D 42 D 7 C
8 A 43 B 8 C
9 C 44 D 9 D

10 D 45 B 10 B
11 B 46 A 11 B
12 C 47 D 12 D
13 A 48 A 13 C
14 B 49 C 14 A
15 B 50 B 15 D
16 A 51 B 16 B
17 C 52 C 17 B
18 B 53 A 18 B
19 A 54 D 19 B
20 A 55 B 20 B
21 A 56 C 21 D
22 B 57 B 22 A
23 C 58 A 23 D
24 D 59 D 24 C
25 A 60 C 25 D
26 D 61 B 26 B
27 B 62 A 27 D
28 C 63 A 28 B
29 A 64 D 29 D
30 A 65 B 30 A
31 C 66 A
32 B 67 B
33 D 68 C
34 C 69 A
35 A 70 B
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